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Q1

Q2

LM-D

SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

John started from point A and walked 12
km towards the east, tumed left and walked
another 5 km to reach point B. George also
started from point A but walked 3 km
towards the south, turned left and walked
another 18 km to reach point B. What is the
shortest distance between points A and B?
(A) 6km

(B) 8km

(C) 10km

(D) 14km

Given is a statement followed by two
conclusions. Identify which of the given
conclusions logically follow(s) from the
statement.

Statement:

During election period, politicians usually hurl
abuses at candidates of other parties and
some often make vulgar gestures too,

Conclusion:

I[) Women and children should not be
allowed to attend election rallies.

II) Election Commission should issuesa
strict code of conduct for all politicians.

(A) Onlyconclusion I follows.

(B) Only conclusion Il follows.

(C) Eitherconclusion | or I follows,
(D) Neither conclusion | nor Il follows.
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(A) 6km

(B) 8km

(C) 10km

(D) 14km
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Q3

Select the option that is a valid assumption
for the following statement.

Statement:

Despite a clear warning from the doctor,
Ramesh, who is a diabetic patient, ate ice
cream at the wedding of his friend.

(A) The friend does not like Ramesh much.

(B) The doctor does not like ice cream.

(C) lcecream is not good for Ramesh’s
health.

(D) Diabetes patients do not like doctors.

A statement and two courses of action are
given. Select the option that is a valid course
of action for the given statement.

Statement:

Due to the planned transport strike, there will
be a shortage of vegetables in the market and
also prices may go up.

Courses of Action:

I.  Government should try to negotiate with
the transport association to cancel the
strike.

[l. Shoppers must buy and store some
extra vegetables beforehand.

(A) Onlyaction|
(B) Onlyaction I
(C) Bothactions land Il
(D) Neither action | nor 11
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Q5

Q6

Q7
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| LM-D

IfVisible :: Eyes, then Audible :: 7.
Identify what can come in place of 7",
(A) Brain

(B) Nose

(C) Heant

(D) Ears

If Book :: Author, then Song :: 7.
Identify what can come in place of *?".
(A) Script Writer

(B) Lyricist

(C) Director

(D) Producer

In a certain coded language, if COPPER is
written as CI1SP16E18 and SULFUR is
written as S21L6U 18, then how will the
word SODIUM be written?

(A) S15D9U2I

(B) S19D4U2]

(C) S15D9UI3

(D) SI15D21IMI13

Pointing at a child performing on the stage,
aman in the audience said, “He is the brother
of the daughter of Shilpa, who is the
daughter-in-law of the mother-in-law of the
mother of my son.” If the man is NOT the
husband of Shilpa, how is he related to the
father of that child on the stage?

(A) Uncle

(B) Nephew
(C) Grandfather
(D) Brother
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(A) witres

(B) =&
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(A) S15D9U21

(B) S19D4U21

(C) SI1SD9U13

(D) SI1SD2IM13
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Q9

Qlo

Given are four statements followed by four
conclusions. Assuming the statements to be
true even if they seem to be at variance with
commonly known facts, identify which
conclusion(s) definitely follow(s) from the
statements.

Statements:

|. Somecats bark

Those who bark do not sleep.
All elephants sleep.

£ W K

Nocat is an elephant.

Conclusions:

) Some cats do not sleep.

Il) Some elephants bark.

Iy Cats who bark are elephants.

V) Elephants who do not bark are cats.

(A) Only conclusion | follows.

(B) Only conclusions | and 11 follow.
(C) Only conclusions I1l and IV follow.
(D) Only conclusion Il follows.

Study the following series and identify what

can come in place of *7".

STEM, MFRV, VSDP, PEQY, YRCS,
SDPB. ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW
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(A) BPBU

(B) BNFO

(C) BQBV
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Q11
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Study the following series and identify what
can come in place of * 7",

JAM24, LEK28, NII32, POG38, RUE44,
TAC24,?

(A) VAA26

(B) VEA2R

(C) VEB3D

(D) VEA32

Study the following series and identify what
can come in place of *7",

83, 77, 68, 56, 41,23, 7
(A) 2
B) 7
(©) 10
D) H

Read the following question and decide
which of the additional information given in
the options is required to answer it correctly

The age of a father and his son is in the ratio
of 13 : 3. Ifthe age of the mother is 33 years,
what is the ratio of the age of the father to
that of the mother?

(A) The difference betweenthe ages of the
father and the son is less than the age
of the mother.

The age of the father at the time of
marriage was 27 years.

The average age of the father and son
is more than the average age of the

(B)

(©)

mother and son.

The average age of the father and
mother on the son’s first birthday was
28 years.

(D)
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JAM24, LEK28, N1i32, POG38, RUE44,
TAC24, 7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32
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Ql4

Q15

Read the following question and decide
which of the additional information given in

the options is required to answer it correctly.

A istaller than B, who is shorter than C. Who

is the tallest person among them?

(A) C isnot the shortest person.

(B) B isnot the tallest person.

(C) Theaverage height of Cand B isthe
same as the height of A.

(D) Theaverage height of Aand B is less
than the height of C.

Read the following question and decide which
of the additional information given in the

options is required to answer it correctly.

A is the son of B, whao is the husband of C,
D is the mother of E and wife of F. How is B
related to F?

(A) The mother of D is the mother-in-law
of C.

(B) Aand E are cousins.

{C) BistheuncleofE,

(D) A isthe nephew of D.
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Q16 Read the following question and decide
which of the additional information given in
the options is required to answer it correctly.

Fivestudents, A, B, C, D and E, are standing
inaqueue such that A, C and E are NOT at
the extremes. Who is standing at the first
position in the queue?

(A) Eisahead of C but behind A.
(B) A isahead of C but behind D.
(C) Eisexactly inthe centre.

(D) There are 3 students ahead of C.

Q17 Choose the odd one out.
(A) DVW
(B) GST
(©) IPQ
(D) MNK

Q18 Select the term that can come in place of

*?"in the following series.
IBY, 6FV, 11JS, 16NP, ?
(A) 21QL

(B) 21QM

(C) 2IRM
(D) 210N
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(A) DVW
(B) GST
(C) JPQ
(D) MNK
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Q19 Ifinacode language, TABLE is written as : Q19 U® & W # af2 TABLE 1 SYYHZ

Q20

LM-D

SYYHZ, how will CHAIR be written inthe *

same language?
(A) FBEXM
(B) BEFXM
(C) EBFMX
(D) BFXEM

If + implies—
~ implies x
* implies +

+implies +,

then select the option that gives the proper

soquence of signs that when filled in the gaps

of the given equation will correctly complete

the same.

61235 15=11

(A) +, =+, %
(B) +, —. %+
©) % =+
D) =+ + %

10

Q20

foren wiven &, o ¥ @ wT # CHAIR
T @ feran wme?

- (A) FBEXM .

(B) BEFXM
(C) EBFMX
(D) BEXEM

afe v+ o - @

—a aef < B

<o 3 + 8

+r aef + 8§,

ar o6 Rae @1 auq oY e et
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6123 5 15=11
{A} +, -, M
B) +, =, %, +

{C} i T B *
{D} S
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Q21
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Q23
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Select the figure that is related to figure C in
the same way as figure B is related to figure

A.
0E-E
(L] L] (]

i o

(A)

o] o
20

(B)

' o

8O |o

(€)

' O

D)

Identify the odd one from the given list.

Ignore, Avoid, Recognise, Reject, Neglect,
Overlook, Overpass, Forget, Disregard
(A) Recognise

(B) Overlook

(C) Overpass

(D) Disregard

Identify the odd one from the given list.

Jaipur, Jodhpur, Jaisalmer, Chhatarpur,
Ajmer, Bikaner, Chittorgarh, Kota, Sikar,
Pushkar

(A) Jodhpur

(B) Chhatarpur

(C) Chittorgarh

(D) Pushkar
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Q24 The following diagram is the outcome of a

survey carried out for the number of
languages that can be spoken by the
employees in a particular department of a
company. Study the diagram and identify the
option that is NOT correct.

English Hindi

N
>

Marathi

(A) The total number of employees who
responded to the survey was 54.

(B) 30 employees can speak Hindi.

(C) 30employees cannot speak Marathi.

(D) 23 employees can speak exactly two
languages.

Q25 Two positions of a dice are shown. If* 1" is
exactly opposite *5", then which number will
be exactly opposite “2"7
(A) 3
(B) 4
(C) 5
(D) 6
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Q26

Q27

Q28

| Q29

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Morley-Minto Reforms, formulated by John
Morley, were enacted in which of the
following years?

(A) 1909

(B) 1920

(C) 1895

(D) 1897

Who was the first person to address
Mahatma Gandhi as the ‘Father of the
Nation'?

(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhas Chandra Bose

(D) LalaLajpat Rai

In which state is the Eravikulam National
Park situated?

(A) Kamataka

(B) Assam

(C) Kerala

(D) Andhra Pradesh

Which of the following is NOT abiotic?
(A) Water

(B) Soil

(C) Ar

(D) Fungi

LM-D
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(A) 1909

(B) 1920

(C) 1895

(D) 1897
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Q30

Q31

Q32

Q33
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As of 2014, which country is the leading
producer of tin in the world?

(A) China

(B) Bruzil

(C) Malaysia

(D) Vietnam

In which district of Tamil Nadu is one of the
oldest dams, Grand Anicut, also known as
Kallanai, located?

(A) Madurai

(B) Tiruchirappalli

(C) Erode

(D) Coimbatore

As of 2012, which country is the largest
producer of bauxite in the world?

(A) Brazil

(B) India

(C) Australia

(D) Indonesia

Which of the following rivers is also known
as Uttara Pinakini?

(A) Cauvery

(B) Brahmani

(C) Vaigai

(D) Pennar

14

Q30 = 2014 T, ITFE WHBY D ATHAR,

Q31

Q32

Q33

Frefafn § |4 99 @ R 4 e &
vt IEES 3N 87

(A) 9

B) wrfe

(C) wafrn

(D) fouerm

afverg @ fem e of Beomg @ W
| v W aren 18 viiee 71, o A
o QU dnf A 9 e #, Rem @7
(A) 7t

B) Refrms

©) =

(D) ®rIagy

o 2012 O, SUGE WHEADN B FFAN
favg 4 digage & W90 7@ TARGD
9 o W 87

(A) wlE
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Q34

Q35

Q36

Q37

The culture or cultivation of grapes is called:
(A) Viticulture

(B) Pisciculture

(C) Sericulture

(D) Horticulture

Khadar and Bhangar are types of which of
the following soils?

(A) Black

(B) Aluvial

(C) Red

(D) Laterite

In which country is the Tanami Desert
located?

(A) China

(B) SouthAfrica

(C) Australia

(D) India

As of March 2019, how many fundamental
duties are there in the Indian constitution?
(A) 6
®) 7
©) 9
O 1
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Q38

Q39

Q40

India has signed an Mol in April 2019 with
the National Bank for Agriculture and Rural
Development Consultancy Service
(NABCONS) for setting up the India-Africa
Institute of Agriculture and Rural
Development (LAIARD) in which country?
(A) Zambia
(B) Malawi
(C) Tanzania

(D) Kenya

In 2018-19, for the second successive year,
which state has been ranked first in e-leaming
training programme of the Department of
Personal and Training (DoPT) of the
Government of India?

(A) TamilNadu

(B) Karnataka

(C) Telangana

(D) Kerala

Uttar Pradesh Diwas is celebrated on which
of the following dates?

(A) 25" March

(B) 2+ April

(C) 10*April

(D) 24* January
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wIRd 1 fbe R ¥ WRa-ameiET P o
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& foy e ¥ oR Tieew ¢s
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(A) wifeaan

(B) werd!
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2018-19 % &aR g 9§ & fay, 5
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(A) TfierTg
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Q41 AsofMarch 2019, which is the third-largest
bank in India?

Q41

(A) Indian Bank
(B) Bank of Baroda
(C) ICICI Bank
(D) Canara Bank

Reliance Mutual Fund has partnered with Q42
which of the following companies to launch
voice-based financial transactions?

(A) IBM

(B) Accenture

(©) Google

(D) Infosys

Q43 As of March 2019, what is commen to

Q43
these four countries — South Sudan, Libya,

Yemen and Greece?

(A) Allare African countries

(B) All are monarchies

(C) Allare Mediterranean countries

(D) Allof them have had an average

10-year negative economic growth

LM-D 17

A 2019 T, IuTTE BN B AR
Hve @ few wae 7o $@ @ W &0
(A) 7w 39

@) % 3w dhar

(€) smfehondeiiond ¥

(D) @70 &5

Remta =gara we 3 Frefafs F 9
e @l & wmr amare-amaRa Rt
A YS T & g wmed @ 22
(A) IBM

(B) Accenture

(C) Google

(D) Infosys

A1d 2019 7%, IYTE WEDT B ATER

&1 uR 21 — <@ geE, @, Tm

afe e — 3 Prfafaa # 9 @ & @

wmra &7

(A) @ anfraft 3w &

B) i v §

(C) it ywmerarrig 3w &

(D) 1 i % sl 10w @
FareE wfts giy g &

Eddblbd
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Q44

Q45

Qa6

In April 2019, Reliance Jio acquired the
chatbot-making startup firm Haptik for:
(A) T 700 crore

(B) T 500 crore

(C) T 600 crore

(D) T 400 crore

International Centre for Automotive
Technology (ICAT) is scheduled to organise
NuGen Mobility Summit 2019 in November
at which of the following locations?

(A) Mumbai

(B) Manesar

(C) Bengaluru
(D) Chennai

Which of the following companies owns the
video app TikTok?

(A) OpenXcel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps

LM-D
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Q45

Q46

afrer 2019 #, Rewia R 3 R
i # fedfe @M areh weam o
Haptik &1 siferrev fasar?

(A) T 700 HU8

(B) T 500 H$

(C) T 600 B

(D) T 400 T3

geYETe Hed Wik aiiemfea eaeion
(ICAT) #da¢ # =oi (NuGen) Mifaferd)
v T 2019 Frmfofa # @ fa
I W I @A el 87

(A) 59

(B) AR

(€) g

(D) ¥T§

Freifearfm 4 & @ @ s Hfd
TikTok @1 wnfie vawar 27

(A) OpenXcel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps



Q47

Q48

Q49

B R Lieme e RS

In April 2019, the UAE honoured who
among the following with the prestigious
Zayed Medal for giving a big boost to
bilateral strategic ties?

(A) Imran Khan

(B) Theresa May

(C) Emmanuel Macron

(D) Narendra Modi

Q47

Who among the following has become the Q48

first transgender election ambassador in
India?

(A) Gauri Sawant

(B) Sathyasri Sharmila

(C) Joyita Mondal

(D) Prithika Yashini

As of April 2019, which country holds the
top spot in the latest FIFA world football
rankings?

(A) England

(B) Belgum

(C) Germany
(D) Austria
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Q49

Frefafer & & 59 UAE grr alte
2019 9, Rwefy wrifs waal # v
Tam &9 @ fog wfafes g s @
W weta e e

(A) R WA

(B) o A

(€) Fhue At
D) & W&

Friferfem % & 2 wiva ) veeh givokee
TR Yo T

(A) Y v

(B) weush nfifar

(C) whftren Hea

(D) ey afersh

Fhe 20197, SUE TG B IR
frfafaa # 4 @9 wr 3w admm
B A gedta W1 F wEd wm w
87

(A) 1

B) fewram

(C) wrft

() aifgzar
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Q50 Asof April 2019, who is the President of

Q51

Q52

the Confederation of Indian Industry (C11)?
(A) KumarMangalam Birla

(B) Ashok Hinduja

(C) Vikram Kirloskar

(D) RajivBajaj

E

As of April 2019, who is the Chancellor of
Tamil Nadu Agriculturnl University (TNAU)?
(A) Trilochan Mohapatra

(8) AjayKumar Singh

(C) Sachin Wadhwa

(D) Banwarilal Purchit

Asof July 2019, who is the Union Minister
for Agriculture and Farmers Welfare?

(A) Narendra Singh Tomar

(B) Harsh Vardhan

(C) AnantGeete

(D) Radha Mohan Singh
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053

Q54

Q55

Which of the following countries is the
largest producer of wheat in the world?
(A) France

(B) China

(C) Australia

(D) Canada

The Keetham Lake and Sur Sarovar Bird
Sanctuary are located near which of these
cities?

(A) Jhansi

(B) Kanpur

(C) Lucknow

(D) Agm

Which city of India is home to the famous
Falaknuma Palace?

(A) Jhansi

(B) Gwalior

(©) Jaipur

(D) Hyderabad

LM-D
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(A) Wi
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(C) sirwferar
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Q56

Q57

Q58

Which state police has its motto as
‘Suraksha-Apki-Sankalp-Hamara'? It
means ‘ Your Security Our Resolution’.
(A) Odisha Police

(B) Rajasthan Police

(C) Uttar Pradesh Police

(D) Haryana Police

In the mobile technology series of 3G, 4G
and 5G, what does the letter G stand for?
(A) Gap

(B) Gigabits

(C) Gateway

(D) Generation

Name the ex-South African player who is
currently the head coach of the Royal
Challengers Bangalore (RCB) cricket team
for the 2019 season.

(A) ABDe Villiers

(B) Gary Kirsten

(C) Adrian Dale

(D) HashimAmia

LM-D
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Q59

Q60

Indian Railway Minister Piyush Goyal has
announced a new railway zone to primarily
cater to Andhra Pradesh. What is the name
ofthis railway zone?

(A) Southern Coast Railway Zone

(B) Rayalseema Railway Zone

(C) Coromandal Coast Railway Zone

(D) Seemandhra Railway Zone

[khlas Khan’s Roza (mausoleum) is situated
in which district of Uttar Pradesh?
(A) Meerut

(B) Saharanpur

(C) Thansi

(D) Budam %

What is the full form of RFP, which is used
in the context of an RFP document in the IT
sector?

(A) Request for Proposal

(B) Request for Petition

(C) Request for Process

(D) Register Formal Process

LM-D
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Q60

HREAT Yot w0 gy Naa A g w09
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(A) =RR oz e o
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Q62 Watson computer is a product of which of

Q65

the following companies?
(A) Microsoft

(B) IBM

(C) Google

() Del

Kevin Systrom and Mike Krieger are the
founders of which of the following?

(A) WhatsApp
(B) Twitter

(C) Instagram
(D) Linkedin

Who among the following established the
Banaras Hindu University?

(A) Rabindranath Tagore

(B) Ganesh Shankar Vidyarthi

(C) Govind Ballabh Pant

(D) Madan Mohan Malviya

Where is the Bara Imambara monument
situated?

(A) Lucknow

(B) Varanasi

(C) Kanpur

(D) Prayagraj (Allahabad)

LM-D

Q62 dieHs wwey Frferf 4 | v s

@1 ueae 8
(A) Microsoft
(B) IBM
(C) Google
(D) Dell

Q63 3faw femgin afit wgs e Pr=farftn

i 3 frud wwms &
(A) WhatsApp

(B) Thwitter

(C) Instagram

(D) Linkedin
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(A) e 2

(B) Trovr vigw el
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Q65 @ FTIFAIS] FING T8l e &7
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Q66

Who among the following was popularly
referred to as the Sher-e-Ballia?

(A) BhagatSingh

(B) Chandrasekar Azad

(C) Chittu Pandey

(D) Mangal Pandey

Who was the Samajwadi Party (SP)
Rajnath Singh in Lok Sabha Elections 20197
(A) SureshBansal

(B) Purvi Verma

(C) Usha Verma

(D) Poonam Sinha

Q66

Q67

The Parichha Dam in the state of Uttar Q68

Pradesh is built across which river?
(A) Sharda

(B) Chambeal

(C) Betwa

(D) Ghaghara

Uttar Pradesh was earlier known as United
Provinces. In which year was it named as
Uttar Pradesh?

(A) 1947

(B) 1951

(C) 1950

(D) 1948

LM-D
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Q70 Who was the first Governor of Uttar Pradesh

Q71

Q72

Q73

after it got renamed as Uttar Pradesh from
United Provinces?

(A) Varahagiri Venkata Giri

(B) Hormasji Peroshaw Mody

(C) Biswanath Das

(D) AkbarAli Khan

In which year did the first large-scale mutiny
by Indian soldiers against the British, the
Vellore Mutiny, take place?

(A) 1812

(B) 1800

(C) 1806

(D) 1813

In which year did East India Company sign
the First Treaty of Amritsar with Ranjit Singh?
(A) 1800
(B) 1805
(C) 1806
(D) 1809

The Brahmo Samaj was established in 1828
by:

(A) RajaRam Mohan Roy

(B) Swami Dayanand Saraswali

(C) Keshab Chandra Sen

(D) Swami Vivekananda

LM-D
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Q74 Inwhich year did the first passengertrainin =~ Q74 wad (4. 3@ waufy Rarh wEEw

India run from Bombay (now Chattrapati fife) & o o® wra § guedt ard 24
Shivaji Maharaj Terminus) to Thane? f&u of ach o

(A) 1835 (A) 1835

(B) 1825 (B) 1825

(C) 1853 (C) 1853

(D) 1840 (D) 1840

Q75  Inwhich of the following locations was the Q75 1764 % faftw = sRa v+ gro wife

first post office in India established by the HRT & 98l orF wx Freifoften 4§ 9
British East India Company in 17647 fw g ar

(A) Hikkim (A) ffaerw

(B) Pune B) g

(C) Madras (now Chennai) (C) werd (sm a=3)

(D) Bombay (now Mumbai) D) ¥ (374 W)
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Q76

Q77

Q78

Q79

LM-D

SECTION-3 | GENERAL SCIENCE / ARITHMETIC | 50 QUESTIONS

Which of these is sonorous?
(A) Wood

(B) Water

(C) Rubber

(D) lron

Select the water-soluble vitamin among the
following.

(A) VitaminsC

(B) Vitamin K

(C) VitaminD

(D) VitaminA

%

Q76

Q77

Rimjhim’s physician advises her to avoid 8 Q78

consuming a diet high in saturated fats. If
Rimjhim does not follow her doctor’s
advice, she can be at a risk of:

(A) kidney discase

(B) cardiovascular disease

(C) anacmia

(D) pancreatic disorder

Which of the following is a major source of
phosphorus?

(A) Potato

(B) Amia

(C) Orange

(D) Mik

Q79

fp=farftaa # | @ wr vanl & afie
(sonorous) TEmf 87

(A) T8

®) T

(C) ™=

(D) =i

forferfae 3 9 @ w1 Ue o i gerTie
faeift 87

(A) feefdmc

®) fafmK

©) fa=f=D

(D) faemA
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(Eg¥ee be) art Ao 1 Al da
T waw O 8 o Relm s
fifcas & WA &1 T T8 Sl B,
1 o9 Prefefaa 3 @ a8
w87

(A) & A fwrd

B) &g o

(C) e

(D) sr=arma (Yrafes) faaw

frfarfaa # A a9 W ORERY &1 (6
v i 87
(A) el
(B) e
(C) wew
D) g
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Q80 What is the false feet with which amoeba

Q81

Q82

Q83

ingests its food called?
(A) Axopodia

(B) Pseudopodia
(C) Filopodia

(D) Reticulopodia

In our body, where does 90% of our total
nutrient and mineral absorption take place?
(A) Kidney

(B) Largeintestine

(C) Stomach

(D) Small intestine

Which among the following is referred to as
nearsightedness?

(A) Hypermetropia

(B) Hyperopia

(C) Myopia

(D) Astigmatism

Who discovered the X-rays?
(A) GalileoGalilei

(B) 1) Thomson

(C) Edwin Hubble

(D) WK Roentgen
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Q80

Q81

Q82

Q83

Fferftee # @ @ &1 v seu (false
feet) & fored apfrar 3= Ao &) Prraan
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(A) T

(B) wEfEm

(C) e

(D) Rgifar
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87
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Q84 Whatis the SI unit of time? Q84
(A) Hour
(B) Second
(C) Minute
(D) Millisecond

(85 Proteinsareoneofthe nutrients Q85
that provide calories.
(A) four
(B) three
(€) two
(D) five

Q86 is also known as cobalamin, Q86
(A) VitaminBI2
(B) VitaminBS
(C) VitaminB7
(D) VitaminB9

Q87 The greatest number that divides 59 and 54 Q87
with remainders 3 and 5 respectively is:
(A) 7
® 3
C) 5
(D) 8

YREIS
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a7 N Sl ged w®a 2?
(A) Her

(B) %3

(©) fFe

D) freidwe

FICIE e ol 0 W U
it PErd wawE we #1

(A) ¥R

®) &=

© A

(D) 9=

frfafn 4 @ 5 s d W d
W S e 87
(A) frefmBI2
B) fefBs
(€) fefm B7
D) fF=fmB9

98 a9 8 vem oF W 8 fored 59
3 54 @1 frnfora o o wwe 3 afe s
o Fod &7

(A) 7

®) 3

© 5

D) 8
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Q88

Q89

Q90

Ifthe volume of a hemisphere is 18 7 cm’,
then the total surface area of the hemisphere
E

(A) 27 x en?

(B) 181 e’

(€) 247 cm?

D) 217 cm?

Let *a’" and *b’ be two numbers. The HCF
of*a’ and ‘b’ is 4 and the LCM of ‘a’ and
‘b’ is 400. Then, the number of the pairs of
values ‘a’ and ‘b’ can assume is:

(A) 3

(B) 4

(C) 2

D) 1

Tap A and B can fill an empty tank in 30
minutes and 60 minutes respectively, Tap C
can empty the full tank in 45 minutes. Ifall
the three taps are opened together, then the
time required to fill the empty tank will be:
(A) 18minutes

(B) 36 minutes

(C) 24 minutes

(D) 30 minutes

A and B can complete a task in 60 days and
90 days respectively. With the help of C, they
completed the task in 20 days. If their total
earning is ¥ 36,000, then considering that
their eamings are in proportion to their work,
the share of C will be:

(A) T 16,000

(B) T 13,600

(C) T 15,400

(D) T 14,800
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Q89
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al 99 o NS T HI Wl AEvd
o grm?
(A) 27x e’
B) 18x cm’
(C) 24x cm?
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e

(A) 18 e

B) 36 fmre

(C) 24 fie

D) 30 fyre

A 3 B 5 & 31 w60 R ol
90 f&=1 1 g #¢ W 81 C 1 weran
W, 9% g o 31 20 faAt A v
forar | uft gl o FAE T 36,000 8,
o 78 Awd gy b o T od em
@ U A 8, C @ feem fsern @m?
(A) T 16,000
(B) 13,600
(©) 215,400
(D) T 14,800
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Q92

Q93

LM-D

Shilpa travelled at a speed of 20 kmvh for 3
hours and an equal distance further at a speed
of 15 km/h. The average speed of Shilpa (in
knvh)is:

1
(A) ”E

1
®) 177
© 165

2
(D) 165
3

In APOR,ZQ=90° A, B and C are the
midpoints of PO, OR and PR respectively.
Then, which of the following statements is
TRUE?

(A) P, A, Band C are concyclic points
(B) R B A and C are concyclic points
(C) Q. A, Cand Bareconcyclic points
(D) Allofthe given options

If a® is the measure of an angle which is
equal to its complement and 8° is the
measure of an angle which is equal to its

supplement, then %,." is:
(A) 3

B 1

(C) 2

D) 05

Q92 firew A 3 wel & fay 20 kmvh @ 7fY 9
e safl & afw g 115 knvh B TR
| 7 far) Rrew & siea 7@ (km/h
H) S B |

1
® 173
1o
®) 175

1
(€) Iﬁi

1
(D) 165

Q93 APQR W,£Q=90° 8| 4, B3lR Cwwer
PO,OR 3 PR & wan fig &1
E frafafn 4 9 @9 @ o= @ 87

(A) P A BIRCymgia fig §
(B) R B A 3R C g fig &

(C) O A, Calr Bumgta fig &
(D) fay 7 i Rew

Q94 TR U B F AW T W FES
WS B T § R 40U B B
g ® W §HD IWS & quaw 8, o
»

}-mﬂl

@A) 3
®) |
©) 2
(D) 05
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Q95 Ramesh sold a box at 10% profit to Suresh,
Suresh sold it to Ganesh at 20% profit, If
Suresh’s profit is T 44, then the cost price
of the box for Ramesh is:

(A) T 200
B) T 150
(©) 2 100
D) T 250

Mahesh had x number of trees in the year
2011. Every year, due to new plantation, the
number increased by 10%. In which year
will the number of trees become at least 50%
more than that in 2011, for the first time?
(A) 2017

(B) 2016

(C) 2015

(D) 2014

Q97 A money amounts to¥ 4,200 in 3 years and
toX 6,000 in 6 years at simple interest. The
rate of interest is:

(A) 20%

|
(B) ]25%

(C) 30%
D) 25%
Q98 For the first 567 natural numbers, the
arithmetic mean will be:
(A) 283.5
(B) 284
(C) 2845
(D) 283
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Q95 T A Uw qAAT 10% @ W GA B
91| W A T 20% AW W T Py
a9 faun) aft gy A 244 B wm affa
o v @ fog 30 T @ wa g
fasern &7
(A) T 200
(B) T 150
(C) T 100
(D) T 250

af 2011 % MY B U x 43 *| WEE
o, ¢ gAY $ RO, W e A
10% o fE &) Sh & ) o el aw s
a9 2011 o e # Y ) v
| B9 50% AR B wed?

(A) 2017

(B) 2016

(C) 2015

(D) 2014

& RIS & 2 O 3 ad |
T4,200 3 6% ¥ 26,000 &) wndh B
e @ & e 27

(A) 20%

|
(B) IIE%
(C) 30%
(D) 25%

UETl 567 Wiphie el & R
e faeen g

(A) 283.5

(B) 284

(C) 284.5

(D) 283

Q98
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Q99 A cone has its base radius as 7 cm and slant
height as 25 em. The volume of the cone
will be:

(A) 1232cm’
(B) 3696cm’
(C) 1864 cm’
(D) 2464 cm’

Q100 Out the following numbers, which one is
NOT a perfect square?
(A) 3136
(B) 12544
(C) 1296
(D) 23832

Q101 The decimal expression for 8 rupees 8 paise
E
(A) 88.0
(B) 8.008
(C) 8.08
(D) 88

Q102 In the product of the first 35 even natural
numbers, the digit at the ten’s place is:
(A) 2
(B) 6
(€) 35
D) 0

Q103 Out of the following, which is the greatest?

A) (492
® 7

(©) {14:11}_7]

L 3
©) [343)

LM-D
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Q99 Tw W@ @ IR B FHeE 7 em AR
ford) S (veie €1%E) 25 cm B i
T aaae e e
(A) 1232em’
(B) 3696cm’
(C) 1864 cm’
(D) 2464 cm’

Q100 Fr=fafas deeil § | 39 @ den
& o wf Tl &
(A) 3136
(B) 12544
(©) 1296
(D) 23832

Q101 8372 8 4 & <vi™ & fov Tymew
sfyarfen s 8 fi?
(A) 88.0
(B) 8.008
(C) 8.08
(D) 8.8

Q102 vEel 35 w9 Wigpfos HeEamil @ TUFAed
# T8 & WF W 9 A5 B
(A) 2
B) 6
(C) 5
(D) 0

Q103 =l # @ #m @ wen vad @ @
27

(A) (49];'
(B) 7

(© {24(::1;.3i

® (55)
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Q104 If2* x 5*ends in 5, then the value of x is:
(A) 1
(B) 0
(€) 2
(D) Novalueofx

Q105 The LCM of two co-primes ( @ and b ) is:
(A) a - b
B) a+b
(C) alb
(D) ab

;
i

Q106 The difference between a number and th;;
two-fourth of that number is 60. What is the
number?

(A) 120
(B) 125
(C) 130
(D) 160

Q107 IfA:B=3:7andB:C=7:9,thenA:C
is equal to:
(A) 3:7
(B) 2:3
(C) 3:1
(D) 1:3

Q108 X takes 8 hours to complete a task. Y takes
12 hours to complete the same task. How
long would it take both X and Y, working

together but independently, to complete the
same task?

(A) 4days
4
(B) 4; days

5
(C) 4 days

(D) 5 days
LM-D
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Q104 AR 2: 5 & 3w ¥ SEWw B A W
"+ e g
(A) 1
(B) 0
(C) 2
(D) x &1 &g 5w 78 g

Q105 &Y W3 HemaiT (a 3w b) &1 e
WHIE S g
(A) a-b
B) a+b
(C) a/b
(D) ab

Q106 5 wem ol 9we -dud 3 dm
W 3N 60 B | wwwr Ty 87
(A) 120
B) 125
(C) 130
(D) 160

QI07 4 A:B=3:73RB:C=7:98 @
A:C__ @aum i
(A) 3:7
B) 2:3
(C) 3:1
D) 1:3

Q108 fasit wr1 1 g &4 & farw X #) 8w
@ 8| o o B g ae @ R y
Bl 1262 o 8| oW B B W@ I
$ o X ol Y &) w e aw, Sfew
WO E w9 ¥, e wwg e
(A) 4f2=

(B) 4% faq
5
(C) 4? fa=

(D) 5f&=
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Q109

Q110

Qi

Q112

Q113

Find the area of a square whose diagonal is
10m long

(A) 10m?

(B 50m?

(C) 100m?

(D) 110m?

Solve the following,

(1 —sin’g)sec’n =
(A) 0

(B) |

(C) smg

(D) cosg

Find the range of the following data.

32, 45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(C) 53
(D) 54

What was the name of the first spacecraft
launched by India in 19757

(A) Bhaskar

(B) Aryabhata

(C) APPLE

(D) Rohini

What is the total route length of the proposed
Eastern Dedicated Freight Corridor?

(A) 1556km

(B) 1656km

(C) 1756 km

(D) 1856km

LM-D
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Q109

Q110

Q1

7499

fada

Q112

Q113

v T fores Be @ &9 10m R,
IHG| HAGA Fa Y|

(A 10m?

(B) 50m’

(C) 100m?

(D) 110m?

Py=ifaftan & &9 &Y

(1 —sin*g)sec’g=__
(A) O

(B) 1

(C) sing

(D) cosg

fersrferfiuer e & ¥ wa &Y

32, 45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(C) 53
(D) 54

1975 % wRa gF1 df=a BT U uEd
aafler am & A m @ g

(A) HRST

(B) 3mhE

(C) Twe

(D) DR

senfaen it wafia e SRR @ o
famrft &7

(A) 1556km

(B) 1656km

(C) 1756km

(D) 1856km
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Q114 Which of the following missiles developed
by DRDO is an air-t0-air missile?
(A) Prahar
(B) Shaurya
(C) Astra
(D) Prithvilll

Q115 Deficiency of which vitamin causes rickets?
(A) Vitamin D
(B) VitaminB
(C) VitaminE
(D) Vitamin A

Q116 Which of the following diseases occurs due
to the deficiency of proteins?
(A) Goitre
(B) Kwashiorkor
(C) Anaemin
(D) Bronchitis

Q117 Which of the following diseases can be cured
by increasing intake of citrus fruits?
(A) Pellagra
(B) Blindness
(C) Scurvy
(D) Osteoporosis

Q118 Whichofthe following statements is TRUE
about the process of evaporation?
(A) Liquid state is changed to solid state.
(B) Gaseous state is changed to liquid state.
(C) Solid state is changed to liquid state.
(D) Liquid state is changed to gaseous
state.

LM-D
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Q114 prpo g fasfa Fefafag 8@ @
o Pmgs s 9 w41 3 AR T Al
U g 27
(A) WER
®) 4
(C) ¥

(D) gedt 111

Q115 F=fafea 4 4w Refm & &0 9
Raew & frd & &7
(A) Ref= D
(B) faerfa= B
(C) Ref=E
(D) faefm A

Q116 Wdw & & & Wy Frsfafag i @
F W A e 22
(A) Mg
(B) @I
(C) it
(D) wiwmElew

Q117 @Wg W&l & Haa &1 7 ¥ Fr=fafea
i @ @ 9@ frd 5 B aad &7
(A) e
(B) 3=
(C) wndt
(D) st

Q118 Tfiwve @1 wikar & an & F=fafan
# 9w W Py 9d 87
(A) Tq gy, o Jawn § ago o

4

(B) T¥iia sraen, w9 amwen § age e
#i

(C) v @, B vl § g5
R

(D) wa g, Ay sgwer 3 qgot S
g
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Q119 Which of the following has resulted in the
deterioration of water quality?
(A) Improper disposal of sewage
(B) Deforestation
(C) Incorrectdistribution of water  *
resources

" (D) Overpopulation

Q120 The Sl unit of stress is:
(A) joule
(B) pascal
(C) volt

(D) watt

Q121 Name the instrument used to measure
absorbed or evolved heat.
(A) Ceilometer
(B) Colorimeter
(C) Calorimeter
(D) Clinometer

Q122 Name the force that binds protons and
neutrons in a nucleus.
(A) Electromagnetic force
(B) Weak nuclear force
(C) Gravitational force
(D) Strong nuclear force

Q123 Protium, deuterium and tritium are:
(A) isotopes
(B) isobars
(C) isomers
(D) isochors

Q119 fFrafafaa 4 4 e Rumesy o

@t Temen  fivee ang 87

(A) 7% urft @ w8 | Fves T s
. (B = B werE
t (C) wia wamET & o fewer ¢
£ O ke s j

Q120 uftad (stress) Ft SI o Far &7

(A) &
(B) 9@e
(C) ae

(D) T

Q121 F=fefm # | @ a3 & 9wm
aifivr ar fasfam o1 (heat) B 7197
& oy frm @ 87
(A) fenire
(B) @ienfiiex
(C) darivirex
(D) fssiviex

Q122 v& Tfe # We sk =g & ¥
e g9 B T Teq 7

(A) Rggn g @
(B) gdw T@g 7w

(C) o a5
(D) waa nfem 59

Q123 wifean, sRRaw sk R{feaw =
Frfefte # 9 5wt Aot § var
87
(A) smgwE
(B) g
(C) g
(D) SMFHDBR
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Q124

Q125

LM-D

Which of the following gases is necessary
for combustion?

(A) Hydrogen

(B) Carbon monoxide

(C) Onygen

(D) Methane

Which of these values represents pH of an
alkaline solution?

(A) §

B) 2

(C) 10

(D) 3

39
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Q124 785 & foy Prefaferma dd dm H s

Fas &7

(A) ETEFI

(B) T RIS '
(C) aifadirom

(D) e

Q125 fFr=fafaa & 4 @59 W = o il

e @ pH &1 wfaffe s &7
(A) 5
B) 2
(C) 10
D) 3
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SECTION-4| GENERAL HINDI | 25 QUESTIONS

Q126 Prfafma Ay uRds af A @& Q130 v wul v v Wiy v S &vr

(A) W et fen A wgw gen & @ s v
® ' O wwa®
(€) ¥ 8 (A) weres fean
(D) = B) Amaws
(C) ywifcren faar
Q127 ‘wew' Wk W @ W suwl &7 (D) wowifes e
(A) W
(B) wfd Q131 F=fafm § | o W I=lea &
© @& yatgard @ 87
D) @ (A) §GT
(B) @renfaa
Q128 ‘¥ow w= ¥ oA W wewy B7 (C) TS
(A 2 (D) wifdemr
(B) ¥
(C) &® Q132 fr=fafam 4 9 917 W wf Res—gm™
D) = 8l &7
(A) WErEAR-gIEN
Q129 “mft &t wra agw gu h B - T B) wa-fam
% Ywifa e frw RAdmor & gemER (C) wrie—favmd
8?7 (D) wfte-afie
(A) T
(B) WemaTa®
(C) Wi
(D) wREEES
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QI33

Q134

Q135

LM-D

et gad & sufee s 9 s
Fed © |—Ra wm F Prafafaa 39
I T W FIer?

(A) ity

(B) v

(C) Tl

(D) =ity

T B GE @A A T 8- areie
@ fon o e Frafafaa 4 @ @
BI?

(A) T

(B) T

(C) wrsrl

(D) Tew

Frafafea 4 & 2w o we wihiftir &2
(A) Heum

(B) W«

(C) ®n.

(D) T

[ = S RN
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Q136 “Writ 1 avwen ot a1 g@ i /- fra

Q137

Q138

Q139

YR F1 ary 87
(A) anmsTaET=ES
(B) wahoaras
(C) weEama®

(D) FmEMES

Feifafea 4 & o o arag I &7
(A) &1 oy 9ua fore enh ar
(B) O van ar ofi Fwet F ol 2
(©) & 3 A aq af simw &)
(D) A amya el & am €

ae 9 v @ ferg sftvr s 9
(A) YFHY ArE

(B) T e

(C) zudt & & g

(D) &fa are # o

Wi =g 8 wr- @ fre ot
i 91|

(A) O 2 da B g Ty

(B) TFeT @ word TEl quifiv &1 aid
(C) o9 37 g urlt &1 g

(D) 9 == =19, & gm—ym
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Q140 Pr=fafea % @ #w & v s Q143 gedre v B witw & e @

# T 87 # foram mar?
(A) s & (A) sfsrd
(B) W&l ACHTY (B) Wit
(C) Fwforn (C) dfevesre
(D) TIET NS (D) amgf e &=
Q14] &G wftsa & e & dws I frsrfarfra Ser &1 areE B
£ afw 9 fau v west (W e 144 -
(A) rER Ya 146) & TR T |

(B) @i AR Wl

(C) womwarg fBad! . il WUt ¥ Wl AR W -8
W, gafoora o g w9 4 w8 v,
e o sdn w0 A, ol v, R
71 faftrs w4 o =l 97 & Tva

AETId14

(D) wwfaeTa

Q142 ‘sl ah fbw amiw @ Rsfia &2
T YaeY WY #| Hed @ 1 §ad

g IS T w4 wut # o g 2, [ifd
(A) #rmd T ST T IRV AT W G
(B) ar@ #ArTedl 81 gfes feramead g wfafisa areen
(C) =+

2| 9! Pad THew WY WEIR B
(D) #ras I Har, Aevaaigy Juan 3 TR,
Ffrasfom fragw v daa gawad
wir @ & uuf o @ € 3 R
a1 sfrg &1 T WER o daw

Haamrafty fagwfsa aaan e,




Ql44

Q145

LM-D

Fear e Affrew | s srewam
@1 iR fey @ 9 gd DavieRer @
dra Rfteet wgeo @ R, s
IR Raftmar 7 & v geg 3 e 50
it & A e &, wed Wi 41 wgEy
T | Ul & WY, SEERYT W YEN
? WUl 1 @ T avf & A,
Hifcrard, wafa sl weea @ wrd
wfaa 4 faer €1 fed @3 3 sl 3
HaTE T A T AR Wl awpit
B HAT-HAT SeAd Bact I &
gfte 3 R & |y oo A eligr-awa
Hitee fimv s 8, a8 wgfty o fvw
wuftfy #1 dax )

TR i @ fay sftw e oy
(A) wpfa =1 Wy

(B) ®fa 3w ygfa

(C) wemn Hf3

(D) wgfty @ wigd

IEWIER TEIW B AER W TRy 6

WP B HERY, FHMN 6 OR B

T Y v g avie el @l due

forery &7

(A) wag g ¥

(B) Fwr® =T

(C) fodt @ & =faat 4

(D) a=hfs, Fiferam, wafi genfd
WP @ e sfaar §
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Q146 SURITT TEiN 1 wWEAYW A |

(A) o= &R @ gey wol @ @
wal # o1 dar 8 Wi ewe
ST B BT YA W GEAT
e, afew favamead g uiafisa
areE #

(B) Wil dad Haamaien figHfea
WEaM Wgod, Je e
fRfray @ s semm & win
TR A I g SovieRe @
i Rfuast g @ R,
wegen 3w fafersan 4 € o gew
@ foy o um & & el €,
e WIgE U1 Heey |

(C) v @ 3 9 & > Yoy, T
@& | v B B gew S
v ) fg o vl @ TEd
|ied &1 9gq g IE
WA & IEET B @
T4, 7% ofY 761 2| vl @ w=
Tl &1 R depa & wde SR
q e ¥ way ot § gw
wRtere avf garm #

D) Red @ 3 AT A gww @
A st wele avwgel @
FAT-AHAT Sooid DA IO B
g & fem &) waw waem A
ursI-agn witere fomor fsar &,
E Wit @ ey wufrgfy @
e 8
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Q147 TER & G YEER T w8 3 g |
(A) Taege 35
B) Raad o
(C) Tom a%]
(D) T WS
Q148 ®en g9 9 913 A o sl €
% Hed & o wEEmEE @ U=
foran | 3w uE g3 e o | ao?
AR ELELRE
(B) H@eT 9H
(C) =mEafd® 9=
(D) =S g3
Q149 wrRfeE yRY i AN o FRRER
fre wIF W Qe
(A) T TR R
B) T ard ain
(C) s Tt AR

(D) TR aTd 3R

LM-D
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Q150 &8 w @ e o oivy @ W @
amar e fsa en & o Prefafta 4
| 9 W AT TS sfeefa TR s
(A) W T
(B) ¥ ¥R
(C) T ¥R

(D) faga ww
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ROUGH WORK /7% &1 & forg

Ba TR dL
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Read the following Instructions carefully :

Prafafua Ardeal & sus | ud -

Out of the four aliernatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet, The answer once marked is not liable
to be changed

The candidates should ensure that the Answer Sheet
is not folded, Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.
Handle the Test Booklet and Answer Sheet with care,
a8 under no clrcumstances (except for discrepancy in
Test Booklet), another set will be provided.

. The candidates will write the correct Test Bookiet

Series as given in the Test Booklet in the Attendance
Sheet.

Each candidate must show on demand his / her Admit
Card to the Invigilator

No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
scal.

The candidates should not leave the Examination Hall
without handing over their Answer Sheel to the
Invigilator on duty. Cases where & candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case,

Use of Pencil/iElectronic/Manunl Calculator is

prohibited.

. The candidates are governed by all Rules and

Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission,

10, After Examination is over, candidate has to return his

1.

Answer Shect to invigilator. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed 1o take Candidate's copy of
unswer sheet,

Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
lovigilator afier the exam.

1. Wl e @ fag e @ aw Reedt 7 |

SPLPGEEY

A

8 gy & 0 3. . AR 9T UEE W
Fad U@ M B @ gf avE T O iEe
i & W | UE AR o 3o e oM @

g 99 qEon T8 T waal ¥

. gl giiften &t & 9w =56 3 A9

7 oy vd 99 g ®1g ara Frem | ami )
el e sEpEEiE SR gEe N iR
w3 afaften sma 9 )

Tden gfae U4 ST 0HE &

war o, wifds e ff uRRefy § @aa
g gftasr # @9 B 918 H) g Tl
gﬁﬂwqﬁ TN UAS SudeE A8 S

e gt % & T vl gRew W0

#1 ol @ i A Sl e A
fored |

U8 O W wes ghandl, w swdee @
gt Wi gEw e |

sfters o S aFadEe & Ry aefa @
famr o whandl so W T 98|

. T T AN B AT ST UEE Ay

famr udemrfl s w8 oW ol
fart ofemedt 9 oufef o9 W FEER
T by o g% WA oo @ 9EE 9T
= T8 drern & 3R uw agfan weE w0
HIAT HFAT T |

iFae /gaagite /s WReas #i
Jqan afea #)

. wiien g A araer & forg ofenedi s @

wﬂﬁaﬂ@ﬁﬁmﬁrﬂrﬁuﬁaslaﬁm
arFl & i e w G e $
it wdl fafaet & arpam g

10. 538 & TR anaell 9TR TSP 8 AR

1 dier €1 srades gi anad] B ST
vaw o) anaedf ufy /g afy swma s
wmeft o fores Sava @ o 3 oiE A
af & el | SR vEs o anaeli wfy
apared] Y 397 WY W O @ st 8

1. 70  Sweia aderell B der gRaw

o8 sFades & dterdl B8 o
qRasr s adareff s W = A
o Wl ¢ |
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